OoNOTUTh WN

OoONOTUTDA WN

A BADPDPWWWWWWWWWWNNNNNNNNNNRERRERRRERRPRRRERFRE
NHFOWOUONOOTUNDA,WNFRLOOONOOUDDWNFR,ROOWONOOULD WNEHEO

SH6EE RARSOZMBNREENCRERR—E

48 58 B 8H 98 108 118 128 18 28

i (%)

7
% l]— SHII= SHII= SHII== SHII= HII== SHII= HII== SHII= HII== SHII= HII== SHII= HII= SHII= HII= SHII= HII== SHII== — SHII= — SHII=
i AITEAE [ AIERE |RIEH [CAEME [CAIER [CRIEME |AIER |BEAR | BIEH [CEIEME [CAIER [CRIEME |GRIER |REMRE |BIEH |CBIEME [CAIER [CAIEME |RIER |GAIERE | BIEH | BIES

i
I

IEFNE] 0.07 0.06 | 8H

LtBNE 0.07 0.06 | 8H

&2 5/E 0.06 0.06 | 8H

EETAE 0.08 0.08 | 8H

Ripin A E 0.05 0.06 | 8

EEZINE] 0.06 0.06 | 8

LB 2SREEE| 0.07 0.07 | 8H

&3S BEER| 0.06 0.06 | 8H

L H] VB St 0.07 0.07 | 8H

(0] [e0][00][00](00][0e][0c][0e][00][00]
M| |D|M|mmim|m|m|m|m

hE/NE 0.07 |

HFNE 0.07 | 8H

BN

NE

[EaLi-o/NES

E-/NE

Pty 1 SNE

Pty 2 SNE

Faty 3 SNE

SIIAE

5L WNES

hEf 1 SN

pEp 2 SN 0.08 [ 8H

hEp 3 SNE 0.08 | 8H

hEl 4 SN

pEp 5 SN

&l 6 SN

pEp 7 SNE

el 8 SN

nAalllmlAmlmlmla

pEp 9 SN

Spe

Sl WNE

pair==Y | VNG

\& 1 S1E

\S2 S51E

\§ 35NE 0.06 [ 8H

Dl Pl Pl M

\E 4 ENE 0.06 | 8H

LE1=0E

L3R 2 SNE

LR 3SNE

KRILE]

Em/NE

HHBINE

RARNE]

SHUANE

AR NE

=

HEEEwE | 0.06 | 8H

aH B EiEE 0.06 | 8H

[=y= v =hUrd

SR EE I

HiR S E I

=R I

RN TPREZAIEL COED . BRar/Fk =hUlc /B dAF C2rL CLED . 1B 0.5mODima CAIEL COE S .



AEH




